1. Find the interval of convergence for the power series

Z (3:187; 2)".

n=10

2. (a) Find the Maclaurin series of the function

2
[@)=3.=5

(b) Find its radius of convergence.
3. Use the Binomial series to find the Maclaurin series for (1 — 2z)73.
4. Use the Taylor series of the functions you already know to evaluate
the sum
] 1 N 1 1 N 1
3 5 7 9

5. Find the Taylor series for f(z) = cos(r) centered at .

6. Let f(z) =1+ + 227 + 223 4 32t + a2

(a) Find the 3rd degree Taylor polynomial ,75(x), centered at 1 to
approximate f(x).

(b) Estimate the error in using this approximation on the interval
5, 1.5].

7. (a) Approximate ez using the 3rd degree Taylor Polynomial for
f(z) = e* centered at 0.

(b) Estimate the error in making this approximation.

8. Find the Maclaurin series for the function

flz) = /Ox e dt.
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9. Find a power series representation for

) =n (1

).
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